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1. Overall Description
RAN3 would like to thank CT1 for their liaison on Identifiers for HeNB (C1-083612) and has studied the impact on eNB and E-CGI encoding resulting from the CSG definitions provided in the attachment of this liaison (i.e. in C1-083596).
RAN3 would like to inform CT1 that RAN3 had already agreed two meetings ago on an explicit mapping of the eNB ID inside the E-CGI and had informed all groups about this decision in bullet 3 of the liaison R3-081534 (RAN3#60 5th-9th May 2008). Please note that this RAN3 mapping is felt very important to operate the LTE key ANRF function. In the same liaison (bullet 6), RAN3 however thought originally as feasible that CSG ID could be contained as well within the E-CGI. 
However, after more thinking, it appeared to RAN3 at RAN3#61bis that the new mapping rules of CSG ID into E-CGI decided in CT1 creates now an implicit binding between CSG ID and eNB ID (and Cell-ID). It appeared that this binding would now limit the flexibility that an operator can have in allocating eNB IDs and Cell-IDs in some situations, despite this flexibility was felt useful in RAN3 by most operators and also felt important in order to be future-proof.  

Some examples illustrating the problem of lack of flexibility for operational teams are as follows:
Example 1: If the HeNB would change location because the owner of the HeNB move to another town, then because the HeNB keeps the same CSG ID the operator would not have the flexibility to change the HeNB ID if it so desires to reflect this move for engineering or operational reasons.
Example 2: in the new CT1 mapping rule, two HeNBs at maximum can have the same CSG ID (27 bits long). Therefore if a starbuck coffee needs 100 sites and 100 HeNB to be covered, if you apply this CSG ID rule for HeNB (27bits long) you need to allocate a list of 50 CSG IDs to users.
Example 3: in a similar example as above, if you have a large enterprise the difference between the CSG ID space (14 bits) and the eNB ID space (20 bits as coded by RAN3) makes 6 bits and only allows to encode 64 eNB IDs to share the same CSG ID. Therefore if the large enterprise is to be covered by 100 sites and 100 eNBs you cannot allocate the same CSG ID for all these eNBs, even if you would like so.
A solution to remove this binding issue that was discussed and envisioned in RAN3 was that the CSG ID could be sent separately from the E-CGI over the radio so that it is no more tied to the E-CGI. 
2. Actions 
To CT1: 
RAN3 kindly request CT1 to take RAN3 point of view into account during further discussion and if CT1 can agree to change the decision reported in their LS could they please inform RAN3.
To RAN2: 
RAN3 kindly request RAN2 to evaluate the impact that would have a separate broadcast of the CSG ID information of the cell over the radio separate from the E-CGI and if this would be acceptable.
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